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1950 25 H®EITE KEH 1980 | 55 ZELE [EH 2010 22 J\BXE &=

1951 264  [MFEAE =00 1981 56 F —H/KE @O 2011  23%F GFREE  FI0

1952 27  =BAE IR 1982 578 NENE FX 2012 24 ANARE IR

1953 284 ZEBIE =XRBE 1983 58%  /J\HEIE =X 2013 25  HEIE @ RE

1954 294 —HKE BF 1984 59  tFEE BT 2014 26 [UEAKRE @ HBF

1955 304  NENE X 1985 | 60  AEEE I8 2015 27%F =EARE  Z=K

1956 314 /J\HLXE &H 1986 614 HEBEIE RHE 2016 284  “EBiE  KRH

1957 324  tHFREE TB&E 1987 624  WiFAE Tl 2017 29 —HBKE TBQ

1958 334  ANEAETE KK 1988 634 Z=EAE KR 2018  304F NENE KX

1959 344F H&ELE CX 1989 « i ZEIE C2BE 2019 T J\BEXE CX%

1960 354  [UFAE BETF 1990 24 —HBKE BRF 2020 2% GCHREE  BF

1961 364 =EAZE Fh 1991 3% @ AERKE FX 2021 3F ABERE ¥H

1962 37 —“RIE FIE 1992 44  J\ALXE FH 2022 4% HEFTE FH

1963 384 —HKE X[ 1993 | 5& @ tLHREE RBE 2023 5% [WEAE XD

1964 394 HIHRKE BR 1994 64 @ ANARE B 2024  6F =EBARE HR

1965 40& /\BXE ZBE 1995 74  HEBEIE X% 2025 7€  Z“BIE B

1966 414  +tHhEE2 RT 1996 8 @ [MUiFAE KWTF 2026 8% —HKE RF

1967 42 RERE Tk 1997 9O Z=BRE  TH 2027 9f&F @ NEAKE  TX

1968 434 HBELTE kK 1998 | 105 Z—ELE KE 2028 104  /\BRLXE | JkH

1969 44 F  [UFAE CBE 1999 115§ —BKE Il 2029 115 tHFEEE CBE

1970 45% Z=EBAE BFX 2000  12%F  NEBAE @ BER 2030  12%F  ANERE @ BX

1971 468 ZBLE ¥EX 2001 135  J\BAXE @ ¥E 2031 13 HEITE FX

1972 47 —BKE FF 2002 14%F  tFEE  IF 2032 14 UEAE  FF

1973 484  NENE RO 2003 15  AESKE EX 2033 15%F  =EBAE XRH

1974 49 J\BXE ®HE 2004 164 H®BEITE  FH 2034 16  “EITE HFH

1975 50& @ GiREE 200 2005 174  [URAE @ 28 2035 17 —BKE 290

1976 51 ARAZE AR 2006  18%F | =EBAE WX 2036 18 | NEXNE AR

1977 52 HEFTE TE 2007 19%F  ZEBIE Tx 2037 19  /\BXE  TE

1978 53 & MWHFEAE KT 2008 204 @ —HKE | kT 2038  20%F | CHEE KT

1979 54 Z=EKRE CEX 2009 214  hEXE CcH 2039 214  AREARE X
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2/4~3/5 AN=! —_B & A2 EAMmENRUSEES
3/6~4/4 tIxR —H U5 AmE HAmE AinE HAdmZE
4/5~5/5 AN=! R =z = | - ai=RIES
5/6~6/5 h&E J\H _=2 22 - = AN =
6/6~7/6 PUix IR —B ==.=# - =% . [Ukx
7/7~8/7 =z A= PIES o - o - Pifx - =28
8/8~9/7 = hE \=! & - AE - B) AE -tk
9/8~10/8 —H MOk iR ) hE - NH
10/9~11/7 IS =% AN=| VA =WAN= - VAN = Il
11/8~12/6 J\H B hE tik - TR - 10 AN =
12/7~1/5 IR = B JAN=EWAN= - JAN=K wv/i
1/6~2/3 AN=! S =% R - LR - nE - —H




